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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Question ID : 6913522283
Option 11D : 6913529131
Option 2 1D : 6913529129
Option 3 ID : 6913529132
Option 4 ID : 6913529130
Status : Answered
Chosen Option : 1
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91827364, 81726354, 71625344,

Ans X 1. 5234166
X 2 61524336
X 3. 5234165
v 4 61524334

Question ID : 6913522239
Option 11D : 6913528955
Option 2 ID : 6913528956
Option 3 ID : 6913528953
Option 4 ID : 6913528954
Status : Answered
Chosen Option : 4




a3 types of tissues form glands.

Ans X 1. Connective
X 2. Muscle
X 3. Nervous
' 4. Epithelial

Question ID : 6913522276
Option 11D : 6913529103
Option 2 ID : 6913529102
Option 3 ID : 6913529101
Option 4 ID : 6913529104
Status : Answered
Chosen Option : 4
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X3 TEganfear

v 4 arefer

Question ID : 6913522280
Option 11D : 6913529117
Option 2 ID : 6913529120
Option 3 ID : 6913529119
Option 4 ID : 6913529118
Status : Answered
Chosen Option : 3

T gfeera STAsTE & ST
Ans J1_ 24
X 2 28
X3 26
X4 25

Q.5 Frar $r ¥ 3 T 15.00,000 ¥ FT FE . T 30,000 Fr SUHANES A ¥ | 3AF AEF Ja7 @

Question ID : 6913522242
Option 1 ID : 6913528965
Option 2 ID : 6913528966
Option 3 ID : 6913528967
Option 4 ID : 6913528968
Status : Answered
Chosen Option : 1

Ans x1_ m
X 2 s
v 3 Framem e
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X 4 afefiar &=

Option 3 ID

Question ID :
Option 11D :
Option 2 ID :

Option 4 ID :
Status :
Chosen Option :

6913522285
6913529138
6913529137
1 6913529139
6913529140
Not Answered

O mad Tl sifEe & , & sl #r T v TAT g B
Ans X 1. H, He
X20F
v 3 As, Bi
X4 Ar, K
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

6913522268
6913529070
6913529071
6913529069
6913529072
Not Answered

Q8 udr & 241 pmR S & gE 3K Free F1 GE A 7 & W F F O¥er AW For T
Ans  of 1. 165.5°

X 2 166°

X 3. 165°

< 4 166.5°

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :

6913522220
6913528878
6913528877
6913528879
6913528880
Answered

1

Q.9 s2em =aE F B urg F e A Frwemwr T & ¥R v AR g @ L S aw Tmm @
g1 ar & w=1g AT fifTm)

Ans X 1. 2016m
X 2. 1008cm
v 3. 1008m
X 4. 2016cm

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :

6913522217
6913528867
6913528865
6913528866
6913528868
Answered

4
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Ans

Question ID : 6913522250
Option 11D : 6913529000
Option 2 ID : 6913528997
Option 3 ID : 6913528999
Option 4 ID : 6913528998
Status : Answered
Chosen Option : 1
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Question ID : 6913522281
Option 1 ID : 6913529121
Option 2 ID : 6913529122
Option 3 ID : 6913529123
Option 4 ID : 6913529124
Status : Answered
Chosen Option : 2
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Question ID : 6913522201
Option 11D : 6913528803
Option 2 ID : 6913528802
Option 3 ID : 6913528801
Option 4 ID : 6913528804
Status : Answered
Chosen Option : 3

QB e arg2s # 15 m AR W 2 s F 16 m & 0 o ¢ =7vg & iwg =m0 Baeh &7
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52 7 I"I"IS-1
K3 775 m
V4 775 ms1
Question ID : 6913522257
Option 1 ID : 6913529027
Option 2 ID : 6913529028
Option 3 ID : 6913529025
Option 4 ID : 6913529026
Status : Answered
Chosen Option : 4
Q.14 = ¢
o[ qUTTr ere, R 7 gl
Ans o 1. TR
X 2 Sodraee
X 3 aiar
X+ FERTSE
Question ID : 6913522296
Option 11D : 6913529183
Option 2 ID : 6913529181
Option 3 ID : 6913529184
Option 4 ID : 6913529182
Status : Answered
Chosen Option : 1
Q15 _w
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X 2. FerEeT
N
X 4 Fareist

Question ID : 6913522270
Option 1 ID : 6913529077
Option 2 ID : 6913529080




Option 3 ID : 6913529078
Option 4 ID : 6913529079
Status : Answered
Chosen Option : 1
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Question ID : 6913522244
Option 11D : 6913528974
Option 2 ID : 6913528973
Option 3 ID : 6913528976
Option 4 ID : 6913528975
Status : Answered
Chosen Option : 1

Q.17 v BT g T T5F W T FR T AT HAT 7 50 kmvh ¥ o 9w RF e oy waew
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Ans X 1.120
W 2 135
< 3125
X 4140

Question ID : 6913522214
Option 11D : 6913528853
Option 2 ID : 6913528855
Option 3 ID : 6913528854
Option 4 ID : 6913528856
Status : Answered
Chosen Option : 2

O org Faw TaEga Huued g Fen S ¥
Ans o1 Al
X2 Cu
X3 Zn
< 4 Fe

Question ID : 6913522272
Option 11D : 6913529087




Option 2 ID : 6913529088
Option 3 ID : 6913529086
Option 4 ID : 6913529085
Status : Answered
Chosen Option : 2
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Ans X 1 g
v25
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X415

Question ID : 6913522202
Option 1 ID : 6913528806
Option 2 ID : 6913528805
Option 3 ID : 6913528807
Option 4 ID : 6913528808
Status : Answered
Chosen Option : 2
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Question ID : 6913522253
Option 11D : 6913529011
Option 2 ID : 6913529010
Option 3 ID : 6913529009
Option 4 ID : 6913529012
Status : Answered
Chosen Option : 3

Q21 g aeg 3 s & 15 m 3K B 2 s & g@Y 16 m & o= §1 9vg Fr swa = feoetr 2
Ane X1 6.17 ms1
X2 620 51

v 3 620 ms1
X 4620 m

Question ID : 6913522256
Option 11D : 6913529024
Option 2 ID : 6913529023
Option 3 ID : 6913529022
Option 4 ID : 6913529021
Status : Answered




[ Chosen Option : 3
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X 3 TOoU3
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Question ID : 6913522238
Option 1 ID : 6913528951
Option 2 ID : 6913528950
Option 3 ID : 6913528949
Option 4 ID : 6913528952
Status : Answered
Chosen Option : 4

Q.23 Flements in the same group of the Modern Periodic Table have the same:
Ans 1. Atomic number

#< 2. Atomic radius

v 3. Valence electrons

/< 4. Atomic mass

Question ID : 6913522275
Option 1 ID : 6913529100
Option 2 ID : 6913529097
Option 3 ID : 6913529099
Option 4 ID : 6913529098
Status : Answered
Chosen Option : 3
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Ans 1B
X2
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X4 D

Question ID : 6913522245
Option 1 ID : 6913528978
Option 2 ID : 6913528979




Option 3 ID : 6913528977
Option 4 ID : 6913528980
Status : Answered
Chosen Option : 1
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Question ID : 6913522292
Option 11D : 6913529165
Option 21D : 6913529168
Option 3 ID : 6913529167
Option 4 ID : 6913529166

Status : Not Answered
Chosen Option : --

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :

6913522266
6913529062
6913529063
6913529064
6913529061
Answered

1
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v 3. FereRcdT
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

6913522295
6913529177
6913529179
6913529178
6913529180
Answered




Chosen Option : 3

2 1f cosecA — 2,secB =+/2 a@r A+ B&F AT &
Ans X 1. 150

V2 750

X 3. 30°

X 4. 450

Question ID : 6913522222
Option 1 ID : 6913528888
Option 2 ID : 6913528887
Option 3 ID : 6913528886
Option 4 ID : 6913528885
Status : Answered
Chosen Option : 2

O e Fye g
Ans of 1. 0oC

X 2. 50°C

X 3.100°C

<4 10°C

Question ID : 6913522267
Option 11D : 6913529068
Option 2 ID : 6913529066
Option 3 ID : 6913529067
Option 4 ID : 6913529065
Status : Answered
Chosen Option : 3

d 1z o S O Fe {1 Tae soee et a@rar e B
Ans X 1. 48%
v'2 60%
<3 52%
<4 40%
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Question ID : 6913522211
Option 1 ID : 6913528841
Option 2 ID : 6913528843
Option 3 ID : 6913528842
Option 4 ID : 6913528844
Status : Answered
Chosen Option : 1

Ans x1_ 9
X2 4
X33
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Question ID : 6913522273
Option 11D : 6913529089
Option 2 ID : 6913529091
Option 3 ID : 6913529090
Option 4 ID : 6913529092
Status : Answered
Chosen Option : 1

Q.32 7w & T F, 50v3 m N W TR F M F 5107 F07 30° F| A T T FAS 60 m E AT
T H1 FE F g 2

Ans X 12043 m
K2 453 m
/X340 m
v 410 m

Question ID : 6913522224
Option 1 ID : 6913528894
Option 2 ID : 6913528895
Option 3 ID : 6913528893
Option 4 ID : 6913528896
Status : Answered
Chosen Option : 4

Q33 gfr 21512017 =t UfAER o7 .3 31 3RTET 2011 F FT TT BT A
Ans x1_ :
W 2. TIEAR

X 3 TRAY
X 4 grfaarT

Question ID : 6913522219
Option 11D : 6913528873
Option 2 ID : 6913528876
Option 3 ID : 6913528874
Option 4 ID : 6913528875
Status : Answered
Chosen Option : 2
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Question ID : 6913522288
Option 11D : 6913529150
Option 2 ID : 6913529149
Option 3 ID : 6913529151




Option 4 ID : 6913529152
Status : Answered
Chosen Option : 4
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ans X 1. 27
<228
v 18
X417

Question ID : 6913522237
Option 1 ID : 6913528946
Option 2 ID : 6913528945
Option 3 ID : 6913528948
Option 4 ID : 6913528947
Status : Answered
Chosen Option : 3
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Ans 1 18
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 6913522251
Option 1 ID : 6913529002
Option 2 ID : 6913529003
Option 3 ID : 6913529001
Option 4 ID : 6913529004
Status : Answered
Chosen Option : 1
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s F

AT ifsw g = 10m/s?
Ans  of 1. 80m
X 2. 20m
X 3. 40m
X 4. 400m

l Question ID : 6913522259




Option 1 ID : 6913529036
Option 2 ID : 6913529035
Option 3 ID : 6913529033
Option 4 ID : 6913529034
Status : Answered
Chosen Option : 1
Q.38 -1
6ms ¥ I ¥ AfaAT  10kg FIAT FH TEG F TS FA &
Ans of 1. 180J
<2 1.80J
< 3. 360J
X< 418J
Question ID : 6913522265
Option 11D : 6913529058
Option 2 ID : 6913529060
Option 3 ID : 6913529059
Option 4 ID : 6913529057

Status : Answered
Chosen Option : 1

Q.39 v & F TR 3T 60 km F gl TT A F TH WeAdTeT § € AT § FaiF A H I TAS
gl 99 F &g 5 " @O §1 TR 9 & Sarer f afy w2 geh 2

Ans X 1. 9.25 km/h

X 2.9.80 km/h
# 3 95 km/h
v 4 9.75 km/h
Question ID : 6913522213
Option 1 ID : 6913528851
Option 2 ID : 6913528850
Option 3 ID : 6913528849
Option 4 ID : 6913528852
Status : Answered
Chosen Option : 4
Q40 37 sreg & TTF FY S AW 9E T I & TG § AT B @ 9 Tger ¢ & We T B
= qm WU
Ans
W . FATTH
X 2 ST
<3 AT
X 4 T
Question ID : 6913522226
Option 1 ID : 6913528902
Option 2 ID : 6913528903
Option 3 ID : 6913528904
Option 4 ID : 6913528901
Status : Answered
Chosen Option : 1
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Question ID : 6913522232
Option 1 ID : 6913528926
Option 2 ID : 6913528925
Option 3 ID : 6913528927
Option 4 ID : 6913528928
Status : Answered
Chosen Option : 4
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Ane K143 3§
v2 41 3%
X3 36 9%
X4 39 T

Question ID : 6913522218
Option 11D : 6913528872
Option 2 ID : 6913528869
Option 3 ID : 6913528870
Option 4 ID : 6913528871
Status : Answered
Chosen Option : 2
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l Question ID : 6913522230




Option 11D : 6913528918
Option 2 ID : 6913528920
Option 3 ID : 6913528917
Option 4 ID : 6913528919
Status : Answered
Chosen Option : 1

Q.44 foramy offss $r 3T 1 km Twe ¥ 3T AC 73 S E) I A T 1 km 3T Tt ¥ sy o et
R 7z S § AR AR F 1 km T@E & 3R R AR g S § A 3E% e 450 m T ¥ e
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Ans 1700 m
X2 500 m
X 3200 m

v 4 550 m

Question ID : 6913522254
Option 11D : 6913529013
Option 2 ID : 6913529014
Option 3 ID : 6913529016
Option 4 ID : 6913529015
Status : Answered
Chosen Option : 4
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Ans X1 D
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Question ID : 6913522249
Option 11D : 6913528996
Option 2 ID : 6913528993
Option 3 ID : 6913528994
Option 4 ID : 6913528995
Status : Answered
Chosen Option : 4

Q46 Rods and cones are found in:
Ans x 1. Heart

& 2. Nose

« 3. Eyes

/< 4 Lungs

Question ID : 6913522278
Option 11D : 6913529112
Option 2 ID : 6913529110




Option 3 ID : 6913529109
Option 4 ID : 6913529111
Status : Answered
Chosen Option : 3
Q47 The fungal cell wall is made of a tough complex sugar called .
Ans X 1. lignin
X 2. pectin
X 3. cellulose
v 4. chitin
Question ID : 6913522277
Option 11D : 6913529107
Option 2 ID : 6913529105
Option 3 ID : 6913529106
Option 4 ID : 6913529108
Status : Answered
Chosen Option : 4
Q48 v zraw & oY & 51 W Foww vk Mg A ® s #0130 © ¥ T & O B w20 m W g
g Xaw I 9T 3773 F0T FEEHL60 © g A 7l Mg AT T Fr g B
Ans X 1. 5m
A2 5/11 m
v 3 30m
X 4 16m
Question ID : 6913522221
Option 11D : 6913528884
Option 2 ID : 6913528881
Option 3 ID : 6913528882
Option 4 ID : 6913528883
Status : Answered
Chosen Option : 3
Q.49 :
_ ¥R F 99 H IS A 2
Ans X1 =T
K 2 s
X 3. Farer
4 gEeTeer
Question ID : 6913522297
Option 11D : 6913529188
Option 2 ID : 6913529187
Option 3 ID : 6913529186
Option 4 ID : 6913529185
Status : Answered
Chosen Option : 4
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Question ID : 6913522255
Option 1 ID : 6913529020
Option 2 ID : 6913529017
Option 3 ID : 6913529018
Option 4 ID : 6913529019
Status : Answered
Chosen Option : 3

< 212220518
X 311221518
X 411320518

Q.51 3fy OATH = v #F F & & 151208 fBr@r =mar &, = ALTER ¥ v #i5 Far gen?
Ans  of 1. 11220518

Question ID : 6913522231
Option 1 ID : 6913528921
Option 2 ID : 6913528923
Option 3 ID : 6913528924
Option 4 ID : 6913528922
Status : Answered
Chosen Option : 1

Ans

V2
X2 -4
X3 1
X4 -2

Q.52 —(—6) [3 _ {8 = (—3)}] = [4{12 + (—3) X 6}] = 7

Question ID : 6913522208
Option 1 ID : 6913528831
Option 2 ID : 6913528832
Option 3 ID : 6913528830
Option 4 ID : 6913528829
Status : Answered
Chosen Option : 1
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Ans | qTATT] R
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 6913522274
Option 11D : 6913529094
Option 2 ID : 6913529095
Option 3 ID : 6913529093
Option 4 ID : 6913529096
Status : Answered
Chosen Option : 4
Q.54 2 I
The number of solutions of the equation x= + x= —2 = 0 is:
Ans X 1.1
X23
W32
X4 4
Question ID : 6913522223
Option 1 ID : 6913528889
Option 2 ID : 6913528891
Option 3 ID : 6913528890
Option 4 ID : 6913528892
Status : Answered
Chosen Option : 3
Q.55 v @remr Gew A@e S w 30% T S e § AR 9 mer sewe €1 TR gwen # wedw
ATE T T 50,000 Fr Rhr gl ¥ & 20l sooet i R ofer |=w d
Ans -
X 1. ¥ 25,000
X 2 22,000
X 3 % 30,000
v 4 215,000
Question ID : 6913522241
Option 11D : 6913528961
Option 2 1D : 6913528963
Option 3 ID : 6913528962
Option 4 ID : 6913528964
Status : Answered
Chosen Option : 4

Q.56 37 ereg F7 T H, S T 92 F I & TERE § oW F g =® w97 F TR &
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X2 sRr

v g e
X 4 I
Question ID : 6913522228
Option 1 ID : 6913528909
Option 2 ID : 6913528911
Option 3 ID : 6913528912
Option 4 ID : 6913528910
Status : Answered
Chosen Option : 3
Q.57 An electric bulb is connected to a 220 V generator. The current through it is 0.50 A. What is the power of the bulb?
Ans X' 1. 110 Pa
X2 110N
X31107
villow
Question ID : 6913522262
Option 11D : 6913529048
Option 2 ID : 6913529047
Option 3 ID : 6913529046
Option 4 ID : 6913529045
Status : Answered
Chosen Option : 4
Q.58 : :
TF TIRUT T 7oy # FeT onfae &
Ans - - +
X 1. T BiRe dES &F JaTd o
X 2. 3T BIHdA EE & Iodd oH
X 3. 3T Bied o9Fg & FTad o F
v 4. TIE FleheT o9 F Icadd ol
Question ID : 6913522263
Option 11D : 6913529051
Option 2 ID : 6913529050
Option 3 ID : 6913529052
Option 4 ID : 6913529049
Status : Answered
Chosen Option : 2

% mersw Fr AR F TAT ST ST T &

A X . i@ o e
X 2 @ o #q+
3. 3BT e

X 4 AT Tar




Question ID : 6913522279
Option 11D : 6913529115
Option 2 ID : 6913529116
Option 3 ID : 6913529114
Option 4 ID : 6913529113
Status : Answered
Chosen Option : 3
90 ey T T Rwew & P F TUE W Fie @ e sugEd gem?
[ 2
Yie iz T ][ 1z
L1 =Ta el
A B
bl ¢
/|
¥|* i/
C D
.z /A
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Ans X 1. D
v2cC
X:B
X< A
Question ID : 6913522247
Option 11D : 6913528988
Option 2 ID : 6913528987
Option 3 ID : 6913528986
Option 4 ID : 6913528985
Status : Answered
Chosen Option : 2
Q.61 v gameaR ¥ 20 % FHE W 6 ¥EA A Rw | 3@ A w A= wi O W 3w & = wie,
afe 37 0gFw= g1l & 7 AnE-AE T i3 4 3 9 8
Ans X 1. 30%
X 2. 50%
V'3 40%
X 4 60%
Question ID : 6913522209
Option 11D : 6913528833
Option 2 ID : 6913528835
Option 3 ID : 6913528834
Option 4 ID : 6913528836
Status : Not Answered
Chosen Option : --




Q.62 Ty o e MY RigiERiew) W o2 fieer & 99 o o W@ s o § o e & geaw
T, 73 S & wAEE AT S v e A ) A or B & e wry e mmn deme(eian)
FT 3, a‘rq'a%ﬁagsraﬁrgamﬁm:

Ans of1.3:13
X21:16
X31:4
X43:16
Question ID : 6913522225
Option 11D : 6913528898
Option 2 ID : 6913528900
Option 3 ID : 6913528899
Option 4 ID : 6913528897
Status : Answered
Chosen Option : 3
Q.63
250+ [-5+ (=5)of {63+ (—28+ —4)}] = ?
Ans «’ 1. -%
X228
X3 -4
X410
Question ID : 6913522207
Option 11D : 6913528827
Option 2 ID : 6913528825
Option 3 ID : 6913528826
Option 4 ID : 6913528828
Status : Answered
Chosen Option : 1
Q.64 vz feuy 7 2 s Fr 3@ F R 5 kg FemE TG W FE T ¥ TE T4 F 3T H 4 ms']
& 7 ms™! & wer AT ¥ wgE ww F A A w7
Ans 1. 75 N
X248 N
X355N
<4 85N
Question ID : 6913522258
Option 11D : 6913529029
Option 2 ID : 6913529032
Option 3 ID : 6913529030
Option 4 ID : 6913529031
Status : Not Answered
Chosen Option : --
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v 4 TR 3T gfEar

Question ID : 6913522290
Option 11D : 6913529160
Option 2 ID : 6913529157
Option 3 ID : 6913529159
Option 4 ID : 6913529158
Status : Answered
Chosen Option : 2

| o @ ke froe Rt F w1 = 9w et 2
Ans 1.5

X 2240

X 3 60

v 4120

Q.66 iz it AU T WY FA S I, OF FF @ 45 Bet F @ FT v §1 qnfy, 7l ok F
FA & AU w1 & v Qg e & g S W owelr e g H R weer O e w w= d qm
FA &1 TROTAETTET, @At 104 RE # w1 A @ W O & AR #g F 30w 6E 39 &

Question ID : 6913522215
Option 1 ID : 6913528860
Option 2 ID : 6913528857
Option 3 ID : 6913528858
Option 4 ID : 6913528859
Status : Not Answered
Chosen Option : --

V7 Crrafataa Ao F ek TEw =T g@eh?

51, 46, 41, .
Ans x1_ 97

X229

X3 26

v 4 36

Question ID : 6913522236
Option 11D : 6913528943
Option 2 ID : 6913528944
Option 3 ID : 6913528941
Option 4 ID : 6913528942
Status : Answered
Chosen Option : 4

s w0 &, Belofe &

Ans J1_ (8, 3)
x 2 ($, 4)
™32, 7
X4 (5, B)

Q.68 w faeg & Trdars, o (-1,9) v (11,1) Tgaft = Sz =1 Iws # Hahs & § 31 F Fue F




Option 2 ID

Question ID :
Option 11D :

Option 31D :
Option 4 ID :
Status :

Chosen Option :

6913522212
6913528845
: 6913528846
6913528847
6913528848
Not Answered

Q.69 eelt it welg T A W T UH TEG 60 N Tt H Gl §1 dmen H Hew W SEAT qored
g

Ans 1. 100 N
v 210 N
X31N
24 360 N
Question ID : 6913522260
Option 11D : 6913529040
Option 2 ID : 6913529037
Option 3 ID : 6913529038
Option 4 ID : 6913529039
Status : Answered
Chosen Option : 2
Q.70 fyo7 Wew TEFT 2018 & et = Sier 1 393 § o o 3R T ¥ gwe @ A
Ane X T T
X 2. JgE FEET
v 3 FNE =T
X 4 8T, HiG-HAT TSHaT
Question ID : 6913522287
Option 11D : 6913529147
Option 2 ID : 6913529148
Option 3 ID : 6913529146
Option 4 ID : 6913529145
Status : Answered
Chosen Option : 3
Q.71 ;s i e
Heat, Cold ¥ TaOT &, 3¢ 98 Knight & Tafag 72
Ans  of 1. Coward
X 2. Shepherd
X 3. Cowherd
7< 4. Leopard
Question ID : 6913522227
Option 11D : 6913528906
Option 2 ID : 6913528905
Option 3 ID : 6913528907
Option 4 ID : 6913528908
Status : Not Answered
Chosen Option : --




472 2016 #r feg aHT IRTERT T Baw FEa Far o
SR -

X 2. Tregsrys e

X 3. gIg FrSE

X4 3 FERE

Question ID : 6913522282
Option 11D : 6913529126
Option 2 ID : 6913529128
Option 3 ID : 6913529125
Option 4 ID : 6913529127
Status : Answered
Chosen Option : 1

Q.73 gxex 97 F wEE B EF W ans & B SR o1 wea §1 i f armar 2400 m® #1 ST @
= F #Ea 10 m?® §, AfF T e F gEa @ s § HR U7 w5 s § W T TEe
#w#aﬁwaﬁﬁ#ﬁmsmﬁmﬁﬂﬁwﬂhﬁqﬁmaﬁrmm%z

A .

"®1. 25 m*®/min
2. 50 m?/min
3. 20 m3/min
4. 40 m® /min

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 6913522216
Option 1 ID : 6913528863
Option 2 ID : 6913528861
Option 3 ID : 6913528864
Option 4 ID : 6913528862
Status : Not Answered
Chosen Option : --

Q.74 v T F 91 &7 7F Bw av ¥ O 990 F BT W 7% sy F g9y F w86 P
hd:

A F IS TS oY 9" F STOA AE A AT

o

. &, ST A0 Ie1r @ ¥ FH § FH Thel # Se¢ a=af N BEA 97 T G F R T W
FFd &, TR T =gl

Il 7, =ga WY 47 swe ¥ gw ww S a6 A< il
Ans X 1. Faer aF Il TEr &

X2 | 3 Il = wér B

v 3 Faer 9% | TET B
Xegarldiwaarll @@ gl

Question ID : 6913522234




Option 1 ID : 6913528934
Option 2 ID : 6913528933
Option 3 ID : 6913528936
Option 4 ID : 6913528935
Status : Answered
Chosen Option : 3

O qraw "geer 3T ArerEET g R g i
Ans x1_ ng
v 2 GE e

Question ID : 6913522284
Option 11D : 6913529134
Option 2 ID : 6913529135
Option 3 ID : 6913529133
Option 4 ID : 6913529136
Status : Answered
Chosen Option : 2

Q.76 fig A ¥ oF F1%H, X ek #1 3R 15 km H gff W g B aF W=t & B =a=er §, 7@ F 3¢ awf
3R 75 e § AR C 7% Tgue & e 10 km weer 81 R aw qeff sk gz §, AR Rg D &
Tt & T 10 km o BT ARR & 7 @ AR gEer ¥ ok Rig E 9% e & w30 km
T B

s SR T g & A T o gl (km )
Ans %1 gL

52 5@

X 3 2442

v 4 541

Question ID : 6913522229
Option 1 ID : 6913528915
Option 2 ID : 6913528914
Option 3 ID : 6913528916
Option 4 ID : 6913528913
Status : Answered
Chosen Option : 2

O g oS & T W a= &
A X1 s
v 2 gEEE
X 3 weiter
X4 e

Question ID : 6913522271
Option 11D : 6913529083
Option 2 ID : 6913529081




Option 3 ID : 6913529082
Option 4 ID : 6913529084
Status : Answered
Chosen Option : 2
Q.78 fafafaa ot F 3R W, o7 6 ¥ foF ¥ 12 =27 9% & 99 iva fae gvae e
ITET FOEAT | TEAE
2 06:00 H
07:009 TF
HIE0T:00H
08:008= T
HEE 00 F
9:008= T
FaE 09:00
10:009s1 T
FIE10:00F
11:008= dF
TET11:00 F 7
12:0087 T
Ans x 1. 4
X2 3
v 2
X4 q
Question ID : 6913522240
Option 11D : 6913528959
Option 2 ID : 6913528960
Option 3 ID : 6913528957
Option 4 ID : 6913528958
Status : Answered
Chosen Option : 3
Q.79 ¢ .
T=fafea & @ #ia o gear, 17956 #1 9157 22
Ans X 1124
X 2122
X3 128
v 4 134
Question ID : 6913522204
Option 1 ID : 6913528815
Option 2 ID : 6913528816
Option 3 ID : 6913528814
Option 4 ID : 6913528813
Status : Answered
Chosen Option : 4

Q80 A pulse is a wave of:




7< 1. Vibrating and oscillating
+ 2. Short duration

#< 3. Constant duration

X 4 High duration

Question ID : 6913522264
Option 1 ID : 6913529056
Option 2 ID : 6913529054
Option 3 ID : 6913529055
Option 4 ID : 6913529053
Status : Answered
Chosen Option : 1

Q.81 ma#mmsﬁrmﬁﬁ%mﬁmgmﬁmmiﬁvﬁm
wfafa = g fer 32

Ans x.]ﬁﬁmm
X 2 FarAEye 5
X 3. 37k Hgar @A
 +. Feiter Hed At

Question ID : 6913522299
Option 1 ID : 6913529195
Option 2 ID : 6913529196
Option 3 ID : 6913529193
Option 4 ID : 6913529194
Status : Not Answered
Chosen Option : --

Q.82 e sl & & 8 ampfadt F ¢ FF @ AT v AT T F e dgET Fr w® F?
W AP

Question ID : 6913522248
Option 1 ID : 6913528991
Option 2 ID : 6913528989
Option 3 ID : 6913528992
Option 4 ID : 6913528990
Status : Answered
Chosen Option : 4




gy F faw B &2

/N /]

Ans X 1. 29
v 2 36
< 3 30
X 421
Question ID : 6913522252
Option 11D : 6913529008
Option 2 ID : 6913529007
Option 3 ID : 6913529006
Option 4 ID : 6913529005
Status : Answered
Chosen Option : 2
0.34mm*mwmw;mmﬁmmaﬁmmtmmmﬁm
TEEE A A o AW A W e A g
Ans x 1. % ﬁ n
v 2. TaTEeEs TS
X 3 wifPew Feriaglea o (d1.3R.TH.)
X 4+ gg1 T e
Question ID : 6913522300
Option 11D : 6913529200
Option 2 ID : 6913529198
Option 3 ID : 6913529199
Option 4 ID : 6913529197
Status : Answered
Chosen Option : 2
Q.85 fordir o TaTy % TF M7 F 6.023 x 107 For onfEA #| ARY CO; F 3.0115 x 107 For Ay § A
CO; & 3y & T
Ans o 1. 0.5
X2 025
X311
X402
Question ID : 6913522269
Option 11D : 6913529074
Option 2 ID : 6913529076
Option 3 ID : 6913529073




Option 4 ID : 6913529075
Status : Answered
Chosen Option : 1
Q.86 4 5o, T WrURT ST T T T T 4,600 WX 5 Iut F Fraer sarer Heem?
Ans X 1.%1,020
X2 1,045
V'3 21,035
X 4 1,025
Question ID : 6913522210
Option 1 ID : 6913528839
Option 2 ID : 6913528840
Option 3 ID : 6913528838
Option 4 ID : 6913528837
Status : Answered
Chosen Option : 3
Q.87 . . .
g 9 ardT e # gyw Fuua B T are?
Ans of 1. 1951
X 21947
< 3 1950
< 41960
Question ID : 6913522291
Option 11D : 6913529162
Option 2 1D : 6913529163
Option 3 ID : 6913529161
Option 4 ID : 6913529164
Status : Answered
Chosen Option : 1
Q.88 1 :
——— F HEGr SAHAT F T H or@ga 97 7g g
Ans x 1. (}3
¥'2.0,0003
230003
X4 0.03
Question ID : 6913522205
Option 1 ID : 6913528817
Option 2 ID : 6913528820
Option 3 ID : 6913528819
Option 4 ID : 6913528818
Status : Answered
Chosen Option : 2
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T=fefET 9ofr § wem e (2) F Fi9 o Seew sownfa Fom

B3 (D) ||
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D Do @

Ans 1D
X2B
X3 C
XA

Question ID : 6913522246
Option 11D : 6913528984
Option 2 ID : 6913528982
Option 3 ID : 6913528983
Option 4 ID : 6913528981
Status : Answered
Chosen Option : 1

Q.90 Hrr v v e it TEF MR W RA T T o W@

U
TTFN F AT JEdTel H TAdas ansdd F ory wadeh Rfeear gonfaat o o sgmr &= =nfiw)
o+

I g, 588 Ig gAfad S0 & d@n ge Rfeer sonfeat # & wddvs #1 swaeT #X w5

Il. 78, TedfEs gumel & @i SafE & fe s R §, saie el Jomer ® SeEr & S A
HTILTRAT ALY B

FUS F TN A SHEd H F A § a% A &7

e K1 aR 1 gt & merEE B

v 2 Fae aF | A gl

X 3 %aw des || 7oA §l
XegarlsiRadll m&==g &

Question ID : 6913522235
Option 11D : 6913528937
Option 2 ID : 6913528940
Option 3 ID : 6913528938
Option 4 ID : 6913528939
Status : Answered
Chosen Option : 2

Q.91 #, ¥ ffte Sew = oRwfits | e e S T $
Ans X 1. 1785
v 2 1784




x5 1786
X 41783

Question ID : 6913522294
Option 11D : 6913529173
Option 2 ID : 6913529176
Option 3 ID : 6913529174
Option 4 ID : 6913529175
Status : Answered
Chosen Option : 2

O FF T g MHiFEEE T IETeE (W) AR 37
Ane X <rdfergs
v 2. TegAAEH

<o mfETe
X 4 HIRA

Question ID : 6913522261
Option 1 ID : 6913529043
Option 2 ID : 6913529041
Option 3 ID : 6913529042
Option 4 ID : 6913529044
Status : Answered
Chosen Option : 2

Q.93 InDecember 2017, who was named as the new chairman of the Broadcast Audience Research Council (BARC) India?

Ans 2 1. Sudhanshu Vats
/< 2. Sameer Gupta

+ 3. Nakul Chopra
/< 4. Partho Dasgupta

Question ID : 6913522289
Option 1 ID : 6913529156
Option 2 ID : 6913529153
Option 3 ID : 6913529155
Option 4 ID : 6913529154
Status : Not Answered
Chosen Option : --

Q94 4252 — 4242 = 7
Ans X 1. 839
< 2 869
< 3 859
v 4 849

Question ID : 6913522203
Option 11D : 6913528809
Option 2 ID : 6913528812
Option 3 ID : 6913528810




Option 4 ID : 6913528811
Status : Answered
Chosen Option : 4

Q95 worar W ot & ¥ By 87 F 39 ove ¥ v s s 3
AS  f 1 i

X e

<3 ger

X4 et

Question ID : 6913522286
Option 1 ID : 6913529143
Option 2 ID : 6913529142
Option 3 ID : 6913529141
Option 4 ID : 6913529144
Status : Answered
Chosen Option : 1

Q96 Rrafafa § € oG WHER & &id G J5ed TTHNT Ay AR F=ar 8
Ans J1_ ﬁ'lFl’

X2 TR

X< 3 TaTm

X 4 AT gy ey

Question ID : 6913522298
Option 11D : 6913529191
Option 2 ID : 6913529190
Option 3 ID : 6913529192
Option 4 ID : 6913529189
Status : Answered
Chosen Option : 1

Q.97 goier forelr ol ot & 17 ten ¢ AT 3w AT 9w 3 A 3 99 v A% #R s e
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Ans X 1. % 25,000
X 2. 20,000
X3 ¥12,500
v 4 % 36,000

Question ID : 6913522243
Option 1 ID : 6913528971
Option 2 ID : 6913528972
Option 3 ID : 6913528970
Option 4 ID : 6913528969
Status : Answered
Chosen Option : 4

Q98 Ffger Frer AT gt F & 5w 3w ¥ wEl v S wEEw §2
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Question ID : 6913522293
Option 11D : 6913529170
Option 2 ID : 6913529169
Option 3 ID : 6913529171
Option 4 ID : 6913529172
Status : Not Answered
Chosen Option : --
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Question ID : 6913522233
Option 11D : 6913528931
Option 2 ID : 6913528929
Option 3 ID : 6913528932
Option 4 ID : 6913528930
Status : Answered
Chosen Option : 3

VI GrfafeE & @ Fi9 @ sien, geR seTew wEa A E 2
Ans X 1.101, 103

2 161, 163
X'3.191, 193
X 4 41, 43

Question ID : 6913522206
Option 11D : 6913528822
Option 2 ID : 6913528823
Option 3 ID : 6913528824
Option 4 ID : 6913528821
Status : Answered
Chosen Option : 2




